A Al

_ URV/RV SERIES
VIR, \/ORM-GEAR
B SPEED REDUCERS

L ddagd a4 4




B The Configuration Combine URV/RV Spec With Motors Coupling Flange And Ratio

- ™
A
t
(Y- AR 2E-]
—
j Ay *If you want special key, please call our technical service
L T
Motor flange The hole diameter of input shaft
PAM P M N Transmission ratio
IEC 75 10 15 20 | 25 30 | 40 50 60 80 100 |
URV/RV-25 56B14 | 80 65 5 | 9 9 9 9 | 9 9 9 9 9
685 | 140 115 | 95
URV/RV-30 |§3B14 90 | 75 g0 W 1 1 1" 1 1" 1 1
5685 | 120 100 80 |
e84 | 80 | e [s | ° | ° | % | 9% |9 |® |9]°9|°9 |
TBs .10 180 10 14 14 14 | 14 14 14 14
71B14 | 105 | 85 70 |
URV/RV-40 | gops 140 | 115 | 95
63814 | 90 75 g0 M 1 1 11 1 1 1 1 1 1 1
56B5 | 120 100 | 80 ‘ 9 9 g |9 |
80B5 200 165 | 130
80B14 120 | 100 80 19 19 19 19 19 19 |
URV/RV-50 | 71B5 | 160 @ 130 | 110 '
71B14 | 105 @ 85 70 14 14 14 14 14 14 14 14 14 14
63B5 | 140 115 | 95 \ 1 1 1M1 1
90B5 | 200 185 | 130
o814 | 140 | 115 | o5 | 24 24 24 | 24 | 24 24 24
80B5 | 200 165 | 130
URV/RV-63 |omia | 120 | 100 | 8o | 1° 19 19 | 19 | 19 19 19 19 19 19
T1B5 | 160 130 | 110
71B14 | 105 85 | 70 | ] [ e ) s
110/112B5 @ 250 @ 215 | 180
10112814 160 130 110 | 8 | 28 | 28 | _ | !
90B5 | 200 165 | 130 '
URV/RV-75 |00B14 | 140 | 115 | o5 | 2% |24 |24 |24 | 24 | 24 | 2
80B5 200 165 | 130
sB14 | 120 | 100 | 80 19 | 19 19 19 19 19 19 | 19
71B5 | 160 130 | 110 14 | 14 | 14 | 14 |
100M12B5 @ 250 215 | 180 '
110/112B14| 160 | 130 | 110 = 2 287 || 1207 [ 28 = !
90B5 200 165 | 130 '
URV/RV-90 | oo [0 115 | s 24 24 24 | 24 | 24 24 24 24 | 24
boss 200 | tes | 430 P P P e
13285 | 300 | 265 & 230 | 38 | 38" | 38" | 38" | |
110/12B5 | 250 | 215 | 180 | 28 28 28 | 28 | 28 28 28 28 | 28
URV/RV-110 reogs | 200 | 185 | 130 | 24 24 24 24 | 24 | 24 | 24
80B5 | 200 @ 185 | 130 w 19 | 19
132B5 300 265 | 230 | 38* | 38" | 38" | 38 | 38 | 38 | 38"
URV/RV-130 100/112B5 | 250 | 215 | 180 | 28 28 28 28 | 28 28 | 28
90B5 200 | 165 | 130 | | | | 24 | 24

Ar\ Alli
ALLIANCE reserves the right to change the technical data and dimensions in order to update or improve its product, withour prior notice. l a n Ce



URV/RV DIMENSION

4 N

’ ] 7
| @W il y
he=r] i /
& i ] —— = T T z| 4
() il -
il I
il u
PE — PA
= _PC | =
P o o

T
S Fo

f-|
D
t

PB L1

c C1 Dfh7)  E(n8) F G H H1 | L1 M N
030 80 a7 54 44 14 55 32 56 65 29 55 63 40 57
040 100 | 1215 | 70 60 |18(19)| 60 43 71 75 36.5 70 78 50 71.5
050 120 144 80 70 |25(24)| 70 49 B5 85 43.5 80 92 60 84 100 64 8.5
063 144 174 100 B85 |25(28)| 80 67 103 85 53 95 112 72 102 110 80 8.5
075 172 205 120 90 |28(35)| 95 72 112 115 57 1125 | 120 86 119 75 140 93 11
090 206 238 140 100 |35(38) | 110 74 130 130 67 129.5 | 140 103 136 90 160 102 13
110 | 2525 | 295 170 115 42 130 - 144 165 74 160 166 | 1275 | 1675 | 110 200 125 14
130 | 2925 | 335 200 120 45 180 - 155 215 81 180 170 | 1475 | 1875 | 130 250 140 16

75 | 44 | 65
87 55 | 65

AR ©

PO

b

030 | 21 55 27 | 545 6 4 M6x11(n=4) | 68 50 |6.5(n=4)| 80 70 5 16.3 0 45> || 12
040 | 26 | 65 | 35 |e67(97)| 7 4 MBx8(n=4) | 75 | 60 | 9(n=4) | 110 | 95 6 | 208(21.8) | 45° | 45° | 23
050 30 7 40 [90(120)) 9 5 M8x10(n=4) | 85 70 | 11(n=4) | 125 | 110 8 28.3(27.3) | 45° | 45° 35
063 | 36 8 50 [82(112)] 10 6 M8x14(n=8) | 150 | 115 | 11(n=4) | 180 | 142 8 | 28.3(31.3) | 45° | 45° | 6.2
075 | 40 10 60 1M 13 6 M8x14(n=8) | 165 | 130 | 14(n=4) | 200 | 170 8 31.3(38.3) | 45° | 45° 9

090 | 45 1 70 1M1 13 6 | M10x18(n=8) | 175 | 152 | 14(n=4) | 210 | 200 | 10 | 38.3(41.3) | 45° | 45° 13
10 | 50 14 85 | 131 15 6 | M10x18(n=8) | 230 | 170 | 14(n=8) | 280 | 260 | 12 45.3 45° | 45° | 35
130 | 60 15 | 100 | 140 | 15 6 | M12x21(n=8) | 255 | 180 | 16(n=8) | 320 | 290 | 14 48.8 45° | 225° | 48

Ar\ Alli
ALLIANCE reserves the right to change the technical data and dimensions in order to update or improve its product, withour prior notice. l a n Ce



URVL/RVL DIMENSION

7 ™

o
o
M
Vv
:
Jasll

E
\

EHCT’ =—1fn1 ! l__
PE T F \
¢ C1
G
PA
PC

-
d

S ;
" o (] j__‘f \{.‘-
K- . T Origssl T

| | 1

GE, I

= - L]

PB L
o A
D(H7) D1(6) E(n8)

030 80 a7 54 44 14 9 55 32 56 65 29 51 20 63 40 57 30 75 44 6.5
040 | 100 [1215| 70 | 60 [18(19) 11 | 60 | 43 | 71 | 75 | 365 | 60 | 23 | 78 | 50 [ 715 | 40 | 87 | 55 | 65
050 | 120 | 144 | 80 | 70 |25(24)| 14 | 70 | 49 | 85 | 85 |435| 74 | 30 | 92 | 60 | 84 | 50 | 100 | 64 | 85
063 | 144 | 174 | 100 | 85 [25(28)| 19 | 80 | 67 | 103 | 95 | 53 | 90 | 40 | 112 | 72 | 102 | 63 | 110 | 80 | 85
075 | 172 | 205 | 120 | 90 |28(35)| 24 | 95 | 72 | 112 | 115 | 57 | 105 | 50 | 120 | 86 | 119 | 75 | 140 | 93 | M
090 206 | 238 140 100 |35(38)| 24 110 74 130 130 67 125 50 140 103 136 90 160 102 13
10 |2525| 295 | 170 | 115 | 42 | 28 | 130 | - [ 144 | 165 | 74 | 142 | 60 | 155 |127.6|167.5| 110 | 200 | 125 | 14
130 | 292.5| 335 200 120 45 30 180 - 155 215 81 162 80 170 | 147.5| 187.5| 130 250 140 16
UWE s T v PA  PB FC PE PM PNH8) PO PP PQ b b | t m a a1 | Kg
030 | 21 | 55 | 27 | 545 4 |[Méx11(n=4) | 68 | 50 [65(m=4)] 80 | 70 | 5 | 3 16.3 102 - | 0o | 45° | 12
040 | 26 | 65 | 35 |67(97) 4 | M6x8(n=4) | 75 | 60 [9(n=4) (110 | 95 | 6 | 4 |208(21.8)|126| - | 45° | 45° | 23
050 | 30 | 7 | 40 [90(120)| 9 | 5 |[MBx10(n=4)| 85 | 70 |11(n=4)| 125 | 110 | 8 | 5 |28.3(27.3)| 16.0| MB | 45° | 45° | 35
063 | 36 | 8 | 50 |82(112)| 10| & |MBx14(n=8)| 150 | 115 |11(n=4)| 180 | 142 | 8 | 6 |28.3(31.3)| 215 | M6 | 457 | 45° | 6.2
075 | 40 | 10 | 60 | 111 [ 13| & |MBx14(n=8)| 165 | 130 |14(n=4)| 200 | 170 | 8 | 8 |31.3(38.3)|270| M8 | 45° | 45° | 9
000 | 45 | 11 | 70 | 111 [13| & |M10x1B(n=8)] 175 | 152 |14(n=4)| 210 | 200 | 10 | & |383(41.3)| 270 | M8 | 45° | 45° | 13
10| 50 | 14 | 85 | 131 [ 15| & |M10x18(n=8)| 230 | 170 |14(n=8)| 280 | 260 | 12 | & 453 [ 310|MI0| 457 | 45° | 35
130 | 60 | 15 | 100 | 140 | 15| 6 |M12x21(n=8)| 255 | 180 |16(n=8)| 320 | 290 | 14 | 8 48.8 | 33.0 | M10 | 45° |225°| 48

ALLIANCE reserves the right to change the technical data and dimensions in order to update or improve its product, withour prior notice. Ia n Ce



URVE/RVE DIMENSION

& ™
K J
| N
|
B B
I
H2 L i W =
[': 5 Al
- ELy _ntl-_ il =3
= A Q_E:_“———H -
= 1 = =4
= ':'/ il =, 2 ) 0
N ZETl ' p @ ‘ E|_t
o/ |l s 4l
i 52 =

URVE/RVE A ] D{H7) DA6) Efh8)

030/040 | 100 | 8O |121.5) 70 | 60 |18(19)| 9 | 60 | 43 [ 71 | 75 |36.5| 28 | 55 | 51 120| 78 | 50 | 40 (71.5| 57 | 40 | 30 | 87

130 92 | 60 | 40 | 84 | 57 | 50 | 30 | 100

030/050 | 120 | 80 | 144 | BO | 70 |25(24)| 9 | 70 | 49 | B5 | 85 435/ 29 | 55 | 51

030/063 | 144 | BO | 174|100 | 85 |25(28)| 9 | 80 | 67 (103 | 95 | 63 | 28 | 55 | 51 145|112 | 72 | 40 (102 | 57 | 63 | 30 | 110

040/090 | 206 | 100 | 238 | 140 | 100 | 35(38) | 11 | 110 | 74 | 130 | 130 | 67 |36.5| 70 | 60 182 | 140 | 103 | 50 | 135 |71.5| 90 | 40 | 160

050/110 |2525( 120 | 205 [ 170 | 115 | 42 14 | 130| - | 144|165| 74 |435| 80 | 74 225 | 155 [127.5 60 |167.5 84 | 110 | 50 | 200

20
20
20
040/075 | 172 | 100 | 205 | 120 | 90 [28(35)| 11 | 95 | 72 | 112 (115 | 57 |36.5| 70 | 60 | 23 | 165|120 | 86 | 50 | 119 (71.6| 75 | 40 | 140
23
30
40

063/130 |292.5| 144 | 335 | 200 | 120| 45 19 |180| - [155|215| 81 | 53 | 85 | 90 245 | 170 [147.5 72 |187.5( 102 | 130 | 63 | 250

URVE/RVE PN{h&) PO

030/040 | 55 | 65| 26 | 65|35 |67(97) | 7| 4 | M6xB(n=4) | 75 | 60 |9(n=4)| 110 | 110 | 45° | 45° | 6(6) | 3 |20.8(21.8)|102| - | 39
030/050 | 64 (85| 30 | 7 [40|90(120)| 9 | 5 |[MBx10(n=4)| 85 | 70 |11(n=4)| 125 | 110 | 45" | 45" | 8(8)| 3 |=28.3(27.3)|10.2| - | 50
030/063 | 80 | 85| 36 | B | 50 (82(112)|10| & |M8x14(n=8)| 150 | 115 |11(n=4)| 180 | 142 | 45° | 45° | 8(8)| 3 |28.3(31.3)|102| - |78
040/075 | 93 | 11 | 40 | 10 [ 80| 411 |13| 6 |MB8x14(n=8)| 165 | 130 [14(n=4)( 200 | 170 | 45° | 45° | 8(8)| 4 |[31.3(38.3)|125| - [120
040/090 [102| 13 | 45 [ 11 [ 70| 111 |13| 6 [M10x18(n=B)| 175 | 152 |14(n=4)| 210 | 200 | 45° | 45° o(10] 4 |38.3(41.3)|125| - |16.0

050/110 [125| 14 | 50 | 14 (85| 131 |15| 6 [M10x18(n=8)| 230 | 170 [14(n=8B)| 280 | 260 | 45° | 45° | 12 | 5 453 16.0| M6 |39.2
063/130 [140| 16 | 60 | 15 |100| 140 |15| 6 |M12x21(n=B)| 255 | 180 |16(n=6)| 320 | 290 | 45" |22.5'| 14 | & 483 |215| MB |550

-y

ALLIANCE reserves the right to change the technical data and dimensions in order to update or improve its product, withour prior notice. la n Ce



Extension worm shaft (S) dimensions

L
b LR A

Ir ] J d(i6) K L m b1 i}
! e 030 |45 | o |20 |13 | - | 3 [102
s _|-:: VARG :L.= 040 | 53 [ 11 | 23 [ 185 [ - 4 | 125
AL B 050 | B4 | 14 | 30 [ 198 [ M6 | 5 | 16
- J 9 X & 063 | 75 | 19 | 40 245 [ M6 | 6 | 215
1 T o075 | o0 | 24 | 50 [ 205 | me | & | 27

® © 000 [ 108 [ 24 | 50 [asa|me | &8 [ 27

;H 8 6 Ll 10 [ 135 | 28 | 60 | 307 [{m0| &8 | 31

130 | 155 | 30 | 80 | 477 |mio| 8 | 3

Output Shaft (A, A2) dimensions

L1

dah6) T ™ W1 Z 21 m M #

325| 63 | 102 | 128 | M6

11 L . b1 050 | 25

53.5| 112 | 173 | 219 [M10
63.5| 120 | 192 | 247 [M10
B4.5| 140 [ 234 | 309 |[M12| 10 | 38
B4.5| 155 [ 240 | 324 (M16| 12 | 45

5

6
53.5| 92 (153 | 199 (M10| 8 | 28

8

8

1
V/.r//-—a-/';////,
e

o

5

B
82|2|8|8|8|8|8|8

Z1

===
I mE L H K o R B

5 030 | 8 | 14 | 24 8 15 4

7 o0 | 100 | 14 [ 315 | 10 [ 18| 4
050 | 100 | 14 | 385 | 10 | 18 | 4

o 063 | 150 | 14 | 49 | 10 | 18 [ s
o5 | 200 | 25 | 475 | 20 | 20 | s

' — 000 | 200 | 25 [ 575 20 | 30 | s
£ e bl m 1m | 250 | 30 | 62 | 25 | 35 | s

130 | 250 | 30 [ 69 | 25 [ a5 [

URV/RV Reducer Lubrication Volume

-Lubrication volume for URV/RV is related with mounting position of reducer
-All stock of URV/RV reducers are filled with WA460 lubrication according to B3 mounting position. For 110 and
130 reducers, if the mounting position is different from B3, a special indication is required.

/ILUBRICATION VOLUME(LITRE)

URV/RV 030 040 050 063 075 090 110 130
B3 3.02 4,55
B8 225 3.35

0.042 0.081 0.153 0.3 0.58 1.02
B6,B7 255 3.55
V5V6 3.02 4.55

Selection of Lubrication
/RECOMMENDED LUBRICATION

/RECOMMENDED LUBRICATION

TELIUM VSF
MELIANA OIL 320
IFOREXPORT REDUCERS
. MOBILGEAR 320
Mobil GLYGOYLE

Ar\ Alli
ALLIANCE reserves the right to change the technical data and dimensions in order to update or improve its product, withour prior notice. I a n Ce



URV/RV MOUNTING POSITION

B3 B8 V5 :L

©]
S
2.

B6 B7 V6

Output flange(F,FL) Torque arm(B) Position of motor terminal box
F1, Left F1, Right B Left

@ 7 “eL
g

e

3 STANDARD

Output shaft of worm(A1, A2) Extension input of worm shaft

Al, Left A1, Right

Relevant Parameters

SERVICE FACTOR

24h  16h g8h 2h \ lenght of daily operating time (hours/day)
—| 23 2 18 16 The service factor (f.s.) depends on the
2.2 1,9 13 1,5 operating conditions the gear reducers is
21 1,8 1,6 14 : subjected to.
2 1,7 1,5 1,3
Ls. L s s g /_______[E,.—//——' The parameters that need to be taken into
1,8 1,5 13 11 consideration to select the most adequate
1,7 14 1,2 1 service factor correctly comprise:
1,6 1,3 13 0,9 A,__f - type of load the operated machine: A-B-C
| 15 1.2 1 08 e - lenght of daily operating time: hours/day (4)
- start-up frequency: starts/hour (*)
Service Factor (fs) (510 20 30 4 s 6 70 8 9 100"
Start up frequency Z (1/h)* LOAD: A - uniform fa<0.3
* Starting frequency Z : The cycles include all starting and braking procedures as well as change over B - moderate shocks  fa<0
from low to high speed C - heavy shocks fa<10

www.alliance-gear.com

An Alli
ALLIANCE reserves the right to change the technical data and dimensions in order to update or impreve its product, withour prior notice. l a n Ce



	Pages-001.pdf (p.1)
	Pages-002.pdf (p.2)
	Pages-003.pdf (p.3)
	Pages-004.pdf (p.4)
	Pages-005.pdf (p.5)
	Pages-006.pdf (p.6)
	Pages-007.pdf (p.7)

